37.50" MAX. OVERALL ~=—76.25" MAX. OVERALL FRAME WIDTH

FRAME WIDTH 37.50" MAX. 37.25" MAX.
FRAME WIDTH FRAME WIDTH

plastpro

5 ¢
£ =
5200 W. CENTURY BLVD. 2 £ . Y J
LOS ANGELES, CA 90045 = % ’ ’ '
GLAZED FIBERGLASS SINGLE DOOR  © : < e < el o,
w/ or w/o SIDELITES £ g
, O
INSWING / OUTSWING : 3 J y J
IMPACT 55 | 1L , ,
oy
— f=—15"
EVALUATED FOR USE IN THE STATE OF TEXAS - 115.00" MAX. OVERALL FRAME WIDTH
The Plastpro Fiberglass Door described herein complies with the 2006 International Residential Code ng&OE CAV%);H

(IRC). Sections R301 & Ré13 and the 2006 International Building Code (IBC), Sections 1405.12, 1609,

1714.5, 2403 and 2404 (including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to base material
shall be beyond wall dressing or stucco.
2. This system has been tested and evaluated as a large missile impact protective system for installation
in the Seaward, Inland | and Inland Il areas. This product meets missile level "D" and includes Wind
Zone 4 as defined in ASTM E1996.
3. Allowable design pressure requirements must be equal to or less than the design pressure rating
shown in the design pressure chart, sheet 1 of this drawing.
4. Conditions not covered by this drawing are subject to further engineering analysis.
SUPPORTING DOCUMENTS & EVIDENCE
1. Testing per AAMA/WDMA/CSA 101/1.5.2/A440-05, TAS 201, 202 & 203-94, ASTM E 330-02 & ASTM E 1886/1996-02/05:
Testing Evaluation Laboratories, Inc. test report(s) #: TEL 2004-07-13-016, TEL 01390243,
TEL 01390242 & TEL 01390242-IC.
2. Calculations {Anchoring and Glass load resistance report ASTM E1300-04) prepared by Lyndon F. Schmidt, P.E.
3. Certificate of Participation issued by the National Accreditation and Management Institute, Inc., certifying that
Plastpro is manufacturing products within a Quality Assurance program.

TABLE OF CONTENTS

:

G

—~— 82.00" MAX. OVERALL FRAME HEIGHT - INSWING
~=- 80.50" MAX. OVERALL FRAME HEIGHT - QUTSWIN

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

37.25" MAX.
FRAME WIDTH

/
VA

PLASTPRO

FIBERGLASS DOOR
PRESSURES & GENERAL NOTES

TYPICAL ELEVATIONS, DESIGN

PART OR ASSEMBLY:

PRODUCT:

BY

SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes
Door panel

Sidelite panel & glazing details

Elevations

pa—

NOJ DATE

Horizontal cross sections
Vertical cross sections X

37.25" x 82.00" | 20.50" x 62.75" +50.0 -50.0

+50.0 -50.0

DATE: 4/19/10

SCALE:  N.T.S.

Vertical cross sections
Frame anchoring OX /[ XO

76.00" x 82.00" | 20.50" x 62.75" | &1 +50.0 -50.0

+50.0 -50.0

DWG. BY: JK

CHK. BY: LFS

Frame anchoring
Componenis and bill of materials OX0O

O|v(o|N|o~n |G| & W N

i

114.75" x 82.00"| 20.50" x 62.75" +50.0 -50.0

+50.0 -50.0

DRAWING NO.:
TX—4080

sHEeT _1_ oF 10

R:\A - Projects\Project Folders\proj 1401-1500\PF 1423\D. RWBC Drawings\TX-4076\TX-6-8.dwg, TX-4080

REVISIONS

s e

© 2010 R.W. BUILDING GONSULTANTS INC.



[IT]
Gl "
DOOR SKIN 85 o Ea
= n Z
\ ]I___I[ EXTERIOR ]D[ By ¢ B g7
U_ S TE _|- :g gig =
s W . > “iT e “\| 2 8 ZZ
xR % &5 xRy L 15T e |5F 558 g8
) . o o ,'.-“:._‘,' A ‘-...‘ Ho, : ‘ Sl d\ a >n EE
O O 7 \r v g LA I O xim s v‘\\ . 8R" 82
~ala Nit ARl L
INTERIOR =2 B Zd, Sy
8 292 8w
@ HORIZONTAL CROSS SECTION Y ey 25
2 I
" 24" GLASS EXTERIOR E X .%3
35.75 BITE | §
—— DOOR  —= STRUCTURAL SILICONE 1" OVERALL e
DL VLA, 20.62" pow #995 «(2F GLASS THK. L \
D.L.O. WIDTH GLAZING COMPOUND i :
. : 1/8" ANNEALED GLASS V/4
BY Q'SO (TYP. 2 PLCS)) N / o B BUBDEALAYER DOOR SKIN | 9
T r SAFLEX BY SOLUTIA " D§ Ly
&~ ’;—‘—1/8"ANNEALED GLASS /A To s 2
: o N < MRS 22 |& =
g o #8-6 PAN HEAD HILO SCREW _L— " = e, —AURIBAGE R =2 (3 &
O = (SEENOTE 1,) = :I'P f 1/8" TEMPERED GLASS ﬂ Q b 19 x
i GLAZING SPACER D S x o
20 SCREW PLUG ﬂ = [? 3 £
o o =
= GLAZING DETAIL INTERIOR G Gl - =
§ fcr’; } ODL Lite Frame /i E
5 9 i INTERIOR /4 EXTERIOR
N it 7
3 /
1
Y o 1.58"
8 T r-_ _ *-| * D %}
D . Wi ke i x
o | L = 1 | Sl £ 20 L . |[~~FOAM CORE
NOTE 2 —=] |=— 185" - ’;I o
ODL LITE FRAME LATCH & HINGE STILE BOTTOM RAIL
. DOOR PANEL @W 2B J Celluiar PVC .m
_ /i
FIBERGLASS DOOR SKIN: MIN. 0.075" THK. (Fy = 11063 PSI MIN.) e o
CORE MATERIAL: POLYURETHANE FOAM (BASF, MIN. 1.9 PCF DENSITY) ¢ h s _'T 5 78" — D
L I 067" —=__ l=— g
NOTE: o _

1. Spacing for lite frame screws is as follows: g | & T batE: 4/19/10
Sides: 4.5" from corners and 11.5" o.c. thereafter — | - ] SCALE:  N.T.S.
Top & Boitom: 4.5" from corners and @ centerline. T S # 1 DWG. BY: JK

: B LFS

2. #8 x 2" PFH wood screw through hinge cap bl

info fop and bottom rails for D.P. > 47 PSF. TOP RAIL 2 |-LATCH STILE HINGE STILE (2 VERTICAL CROSS SECTION DRANING. WO
Cellular PVC LVL Reinforcement 2C IVl Beirtorcernon 3 TX—4080
SHEET _2 oF 10

\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1401-1500\PF 1423\D. RWBC Drawings\TX-4076\TX-6-8.dwg, 3-2

© 2010 R.W. BUILDING CONSULTANTS INC.



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1401-1500\PF 1423\D. RWBC Drawings\TX-4076\TX-6-8.dwg, 3-3

NOTE:

@4 45
. SIDELITE PANEL

FIBERGLASS SIDELITE SKIN: MIN. 0.075" THK. (Fy = 11063 PSI MIN.)
CORE MATERIAL: POLYURETHANE FOAM (BASF, MIN. 1.9 PCF DENSITY)

1. Spacing for lite frame screws is as follows:
Sides: 4.5" from cormers and 11.5" o.c. thereafter
Top & Bottom: 4.5" from corners and @ centerline.

bz

’—H 1.58"

l

1.20"

?

TOP RAIL
Cellular PVC

0.67" —=|

| =

| " |
e | 2.78
f | J
2 2
; ; 1
STILE 3E STILE
LVL Reinforcement LVL Reinforcement

STILE
Cellular PYC

3F G1
DOOR SKIN FOAM CORE
EXTERIOR
N X =GRS N %
() S dl? INTERIOR l{r = C
35.75" MAX.
~—  SIDELTE  —=
/ 1"\ HORIZONTAL CROSS SECTION
PANEL WIDTH -,
. 20.50" MAX.

; I D.L.O. WIDTH 3!4"B%ASS EXTERIOR

| STRUCTURAL SILICONE 1" OVERALL

] Dow #995  (3F [ GLASSTHK.

GLAZING COMPOUND .
u T / BY Q'SO (TYP. 2PLCS)) /8" ANNEALED GLASS
5 | S s 2 \5 0.090" PVB INTERLAYER
5 ’ 1 SAFLEX BY SOLUTIA
g 0 = = 1/8" ANNEALED GLASS
< G J _ > ~_— AIR SPACE
o G 26 #8-6 PAN HEAD HILO SCREW _| < e
5 4 O =3 SEE NOTE 1. % 1/8" TEMPERED GLASS
o % =& ( ) -
> 3 : GLAZING SPACER
g o SCREW PLUG
o™ =
BT / < GLAZING DETAIL INTERIOR
o {// ODL Lite Frame
/

ODL LITE FRAME
Aluminum

r+ ll .58"-?:-1

|

e
1.20"

BOTTOM RAIL
Cellular PVC

i

DOOR SKIN

/4

A
=11

Vi

INTERIOR /4
Y/

[

Gl

EXTERIOR

N

]

.

y

FOAM CORE

7

/1

7“2\ VERTICAL CROSS SECTION

\2/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.8197

P.C. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

o 3
S ]
S o=
o<
o0 =5
[Ny <8
e P
uy @ we
5(_!) S| ==
ar |u g%
L 2
Q |2 25
5l < (a7
3 o
[
(o] o
& 5
>—
m
%)
Z
o
%]
ol
o
o
<
a
o
bl
pATE: 4/19/10
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4080

sHEET _3 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



TON] SLNVLAINSNOD aNiaing "Mi's OoL0og @

ZS8li—4 # NOWWVMLSIOZN 40 3LVOIJILNID SNOISIAGY .
SMIIANIONT TYNOISSI0dd 40 QuvoS SvXal SNOILYATTI Ad 341vd |ON| o O_
LBLE'BSOCLE I"ON Suolyd ﬂ S Wu % m Mr..
$6GEE "1 OOUIDA 0€Z XoF ‘O'd \R\M‘@. RV B0 Javd = M g ?|°
*ONI “SINVLTINSNOD SNIaIng / . z | 4_
4004 SSY19434l4 “ [Elgle &
£ZLvOLf '3'd SvXIL 0dd1LSV1d g m |y w. &
‘I'd IPIMYSS ‘d UopUA  :Ag peundesd sjuswinoog :110N00Yd HEAHEES %
ql@
>
o
=
o
—lr..
=
LLl
v
LLi
SEha Rk ohR
C [==]
8 |8
z =z * oo
g | o oD D@
EER m = > x %
O &
= A S N
o] (o] (o] (o]
“ Al A xalxa
U UV V< > o
ealala s =
~C
=
tl,h:.///
-
Y |z | H | 0w @ﬁ O ==
IERERE v
S =<
>4 /ﬂf/x/ o)
= g
2
=z
@)
<
>
=
LLY
=<
>
O
—
<
>
Ll
R
Ly

-€ 'BMP'8-9-X1\9/0p-X 1\sBumesa Jamy "a\EzHT d\00ST-10HT fosd\ssopjod 19a[0ad\saloid - V\DGMU\EXZSas\\



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1401-1500\PF 1423\D. RWBC Drawings\TX-4076\TX-6-8.dwg, 3-5

SEE
NOTE 1

EXT. SHEATHING L é)s,].ﬁK
7 @ (TYP.)
7
EXTERIOR
/§
i
DRYWALL / é INTERIOR

(N

HORIZONTAL CROSS SECTION

I

Inswing shown - outswing also approved

XN
/// ‘

............

T

EXTERIOR

//

®® O

(a0) 7
] /////

0.15"

C's
e+ (U

/ EXT. SHEATHING

‘‘‘‘‘‘

A — %%

L S Y Y

A% — %

‘‘‘‘‘‘‘

EXTERIOR it

//

NOTE:

1. Sidelite screws (item #22) located at
3", 6" 16", 27", 38", 49", 60", 70" and
80" from bottom of panel.

INTERIOR

SEE
NOTE 1

con ) é@ N

/"2 "\ HORIZONTAL CROSS SECTION

\y Inswing shown - outswing also approved

K

® @s

/4

¢
o INTERIOR

7“3\ HORIZONTAL CROSS SECTION

w Inswing shown - outswing also approved

SEE
NOTE 1

6 &0

/ 4"\ HORIZONTAL CROSS SECTION
w Inswing shown - outswing also approved

0.15"
C'SINK —=]
(TYP.)

@ / EXT. SHEATHING

EXTERIOR ! (
N
INTERIOR \ DRYWALL

5"\ HORIZONTAL CROSS SECTION
\y Inswing shown - outswing also approved

Lynden F. Schmidt, P.E
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595

Documents Prepared By:

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

wy
=
o
G
s
S ]
a8 | o
& A
(R p] iy )
= >
27 |a| S
S(.D =
ot |hif 2
Ll w =
o 19 =
g e v 8
S S| =
(]
2l 8T
o o
b
mn
w
=z
o
w
Gl
o
et
S
o
=
oaTE: 04/19/10
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4080

SHEET _5 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVYLINSNOD aNIging "m's gLaes @

zS8LL—1 # NOLLVMLSIOZY 40 ILVOIJILHED SNOISIAZY >
SHIINIONT TYNOISSIJONd 40 QuvOE SYX3L SNOLLDIS SSOMI TWOLLMIA A8 dlvd [ON|© slxlo] o m_
= 5 3 NV = L [te}
LB16°6S9°CLE 'ON Suoyd 3 Y I ~ alk
GBSES "Id O2UIDA 0£Z x°8 ‘O'd \H\WK_ el Gl ] ﬂ = g ©
*ONI ‘SINVLINSNOD oNIaTing < L v_A 6_
4004 SSvi19y3gld o AR AN
£ZTLYOL# "3'd Syx3L 0ddLSVd i m S| ¥ w r
J'd WPIWYSS "4 uopukl :Ag peJndely sjuswunsog 129NQ0Hd 518 W 515 &
%M_wmm o
MRS
L o
ik = @
Nk E &
......... L
.......... iy “m < = m
..a- ..Q.M.\.-d_\nﬂ mhv m
‘. A\l Zz |
I e O L.
Ay ...\u p o L d .m
..c..d = % - Q )
helawal N (o] =
ae|.D
(=) Sfg
o]
M O
J[S
&| 2
=% T =]
O >0
B
= =T |0
<

EXT. SHEATHING

("dAl)

~—INISD
510
NP

\\\\\\\\\

EXTERIOR

EXTERIOR

/i

also approved

/"3 "\ VERTICAL CROSS SECTION
\é/ Shown w/ ADA threshold

1
DRYWALL \
INTERIOR ’/
71"\ VERTICAL CROSS SECTION
w Inswing shown - outswing
INTERIOR

LLl
&
[a)
Q
O
~0 o) an
2 0
= | B
[=]
I~
S
S o
& ® &
> QS
- i
=i =
« w hE
3 ] E|2
S|2
>
)
o
)
(874
L
—
Zz

9-¢ ‘BMp8-9-X1\9/0-X1\sBumeld D9my "A\EZHT 4d\00ST-T0HT fosd\siopiod Joeloud\sialold - Y\DaMu\E32sas\y



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1401-1500\PF 1423\D. RWBC Drawings\TX-4076\TX-6-8.dwg, 3-7

INTERIOR EXTERIOR

>

®_

\\

/"2"\ VERTICAL CROSS SECTION

w Inswing configuration

@SEE
| V NOTE 1

o CONCRETE

N
/
\

- \

DRYWALL \ It / EXT. SHEATHING
N it
N

@/’
SEE@_/ ; —
® 5

INTERIOR EXTERIOR

= ,@
)
T

)

0.15"
C'SINK
(TYP

1"\ VERTICAL CROSS SECTION
\U Inswing shown - outswing

also approved

INTERIOR

=@

EXTERIOR
/]

NOTE:

1. Screws thru head and sill
jamb located 3" from each
end and on center line.

INTERIOR EXTERIOR

/i

/3 "\ VERTICAL CROSS SECTION
W Outswing configuration

4"\ VERTICAL CROSS SECTION
w Qutswing configuration

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO
FIBERGLASS DOOR
PART OR ASSEMBLY:
VERTICAL CROSS SECTIONS

PRODUCT:

BY

REVISIONS

=
<
a
o
=
0

DATE: 04/19/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4080

SHEET _7 ofF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1401-1500\PF 1423\D. RWBC Drawings\TX-4076\TX-6-8.dwg, 3-8

2X FRAMING TO BE DESIGNED BY THE ENGINEER OR
ARCHITECT OF RECORD BASED ON WIND LOADS
AND THE CLADDING BEING USED.

L~
1
|

T

6"

—  TYP.HEAD & et .

/’ JAMBS
2X FRAMING

il JAMBS ;
SEENOTE 1
TYP.

31.25"
v}
@]
)
Y
1
I
|
77 B T
|
|
h
AN
|

SEENOITE 1

% 11 11
TYP. HEAD & T TP

|

1-Ef: FRAME 3
L] ju— e ‘J- Ll — =Iq = L
> o &
2 ¥
= 50
] c":s =z
; — - 256 | - —| |~ WOOD -
(1) woop
_ (?) CONCRETE
L EE] CONCRETE TYP. SILL
; P TYP. SILL - : - . i
*
P l b l i1 1 |
) o e
HINGE JAMB FRAME ANCHORING STRIKE JAMB FRAME ANCHORING
XO /OX
e é‘égfm EMBGBERF'{;L) FLOOR SUBSTRATE MATERIAL
OO (G, = 6.4 CONCRETE (MIN. 3000 PSI)
e 2= 0 WOOD (5.G. >= 0.42)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
B13.659.8197

BUILDING CONSULTANTS, INC.

Documents Prepared By
WPhone Ne.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

S /
0 lJ
| ] 1
/ & "‘ O Q
*-- i ""’/® o8| E
T an ..
I REE
35 |3 <
| 5 |y
& 14
1 // g | .
. 5 x
% @; HINGE DETAIL § E
E % o o
50
>_
33 fn
78]
=
)
7]
o
[
LATCH & DEADBOLT DETAIL
=
5
o
zZ
DATE: 4/19/10
SCALE: N.T.S.
* ADDITIONAL ANCHOR REQD owe. B:  JK
FOR D.P. > 45 PSF CHK. BY: LFS
(WOOD SUBSTRATE ONLY) DRAWING NO.:
TX—4080

sHEET _8 oF 10

© 2010 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNOD gNigTing "m'd OL0EZ G

2S8L1—4 # NOILVALSIORN 40 ILVOILILMID 5 SNOISIAFY i
SHIANIONZ TVYNOISSIJ0Md 40 QuvOE Swxal ININOHINY TNV A d41vd [ON = il % o w_
LBLE'6S9°CLE I'ON euoyd : N ) 00
g66EE 14 OOHIPA OSZ Xo8 ‘0'd \SV@. XTARISSY 10 1vd NN
*ONI ‘SINVLINSNOD ONIaTINg o A 2 | 9_
4000 SSY194381d4 MR EAEIE P
€TLPOL# "I'd SvXalL 04dLSV1d £ o|x|Z g
I'd IPILYDS 'd UOPUAT] :Ag peupdeud sjusLunosog 119Naodd P! W W m %
e "Lk
¢ ,nwmmm..r thy &
2 N NOY 1 [#

S5 B L %u.v i =
POV [ PEC ) wﬁ =l m 25
.h.u..% SO d ...Q\.f mu_ < o =z
i S LR LL.

F27 gziylh e ommv 0 & &€
. 2 eias : averen 302}1_.\ - = &= L
2 Tawnos ANESNp : = % CRE
& esiest { Y /V /. \ = a = >. &
GF .“.WW\ ixd r”” Q M <n @
QX i, AL SE N " = 203
L.m QF ..:.:..........WV‘...U( = a = oz
g1 5 5 s 558
LIRS Nes - = 5
] E O
/“ 5 2 =
3

&

f ._m_.,O.V 1|_ o m.m S
| - -
| — = B
— : : . . — g

&

_, ¥INIONO
_ XYW .0LEL

| I |

9 Al!

BE 3

_—
(e

TYP
SEENOITE 1

"
7

|

0

o CONCRETE

—i—

FRAME ANCHORING
OoxXo

I
TYP
..: L
O
o CONCRETE
]‘/
] g

— _ -
s | I 1 I I o

TYP. HEAD &
JAMBS
SEE NOTE 1

|

AND THE CLADDING BEING USED
FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PSI)
WOOD (§.G. >=0.42)

Q0 s
Z <
2 &
<
[a°4
L
><
(9] o
=
Ly
L] L] * L) e j m

ked erd

ub = W = ST 1E 'Ll| WSC1E 'L

2X FRAMING TO BE DESIGNED BY THE ENGINEER OR
ARCHITECT OF RECORD BASED ON WIND LOADS

6-€ 'BMpP 8-9-X1\9/0b-X1\sBuimela Dgmy a\ezrT 4d\00ST-10+T fod\siepjod 1afoid\spalold - v\oamu\eizsas\y



\\sbs2k3\RWBC\A - Projects\Project Folders\proj 1401-1500\PF 1423\D. RWBC Drawings\TX-4076\TX-6-8.dwg, 3-10

BILL OF MATERIALS
ITEM DESCRIPTION MATERIAL

A | 2X HEADER FRAMING SG >= 0.42 WOOQOD

B | 2X FRAMING SG >= 0.42 WOQD

C | 1/4" MAX. SHIM SPACE -

J | #10 X 3"PFH WOOD SCREW STEEL

K | 2X REINFORCEMENT [CLEAR PINE SG >=0.42) wOOD

L | #10 X 2-1/2" PFH WOOD SCREW STEEL

P | 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL

M | #8 X 2-1/2" PFH WOOD SCREW STEEL

5 | #10 X 3" PFH SCREW STEEL

6 | SEALANT SILICONE
7 | WEATHERSTRIP BY Q-LON FOAM

9 | 4"HINGE STEEL

10 | #9 X 3/4" PFH WOOD SCREW STEEL
20 | JAMB FINGER - JOINT - PINE (SG >=0.42) wOQOD
21 | POLY FIBER JAMB POLY FIBER
22 | #7 X 2" PFH DRYWALL SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT PLATE STEEL
29 | SIDELITE SPACER PVC

30 | DOOR SWEEP ALUM.
35 | TRIM WwOOD
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS =

50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -

66 | #10 X 1-1/2" PFH SCREW STEEL

70 | INSWING THRESHOLD BY DLP ALUM. / WOOD
71 | ADA THRESHOLD BY DLP ALUM.
72 | OUTSWING THRESHOLD BY DLP ALUM. /f WOOD
73 | SIDELITE THRESHOLD BY DLP ALUM. / WOOD

CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have different edge
distance and center distance requiremens.

2. Concrete anchor locations at the corners may be adjusted to maintain the min. edge
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted fo maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

W /4 1-3/4" 2-1/2" 4

ELCO 1/4" 1-3/4" 1™ 4"

HEAD & SIDE
Poly fiber jamb

= 456"

I
W L)
. INSWING THRESHOLD

H—' 1.30" I'F

~5

4.56"

Iy

T

72} QUTSWING THRESHOLD

——-[ 1.01" je—

73 ) SIDELITE THRESHOLD

0.93"

T

29 }-SIDELITE SPACER

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

S
Q 2
oo E<
Q- ]
Qv sy QO
53 |5 &=
3(_': = =0
oo ul o=
Lo} 0l o<
L
o o
o
§ o
-
o ©
i T
P
m
(%)
=
O
2]
oc
Lt
S
o
Z
DATE: 04/19/10
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LES
DRAWING NO.:
TX—=4080

sHEeT 10 oF 10

© 20710 R.W. BUILDING CONSULTANTS INC.



